@ C romer's Role | |
s

o 50/«/c

Ve  linear nin sy,/—,m Ax=b -
e Fiad ]« i should not be 2
. The sdobion X () s oblained a5 follow:
X
_ B p 5 oblained by veplaciy

l |A| e it column of A by the clomn b

1(’0/ OVU l\: ‘,2/‘“/

n

_é_YF Solye the FOHOMJ)U \ineor SyS/ﬂm VSI'U Cramv/s fule

2X, —3X, = B
X. + 656X =-9
Then QQV\O‘ the Cosl-.

. A = T B = ’,Q/ = ()(5) - ()(-3) =13
- 5

w:'H\ co_d: |

-0

X : 2

\3 ~31 . -
* X = -,ﬂl)- = i—i :_IE__:) with cost= 34) =y
|Al 13 1
8 =
Koy 2 .lﬁl']—. \\-:' -‘l) __...'__7;_6_:,_-2' Wit cost =3 %1 =y
‘ LR \

Aiv sron




é/{f Assome  AXx=b 15 32x3 |ineon SjSl!W E
Find Phe cot of seluing this spstem vsing CramesS Roe.

PR 1. BV X RN VY

P

|Al |A] /A

@J st = 4 (1) +3 = 59
pd

)00"’ {nO“ nUmbW of

m C OF s e
n; i v e:ik e divisions
o

Rcmwlﬁ ﬁ solve Nnxn )l'nW SySlﬁm )gj Cfbw'cré ﬁult,

—

Hhe cost will be

(Y!-H) D" + N wheve Dn s tHhe Cosi"
of | Al

fx? : For Yxy Sy}k,bvx =)

the cost s

=

i ED;"Q"LI b"h&t’t—

+

0, is He cub of 1Al 24D 4y 43
=40+ F
= 63

* Hence Co;f_—:gDy*v

= 5(63)+Y

= 2




